SMART |0+

Data Acquisition & Control

Bulletin 04L51B01-01KR

www.smartdacplus.com/kr/

vigilant . YOKOGAWA ¢

The clear path to operational excellence




Data Acquisition & Control

SMART) 5+

71 E SR H| =LA BE2 L] H3LE
Ol2{8t H|=L|A EF0 H35H7| fIsHME H
MUESH F5E & U= AlA”E0| 27 ELIC
SMART )7+ 2 DZ40l| A o] =2l =HE

0 X
042{7}x| 2HEOoM HoldE F8 &

2T RO AIAHE SEE & BYBELICH

Ozt SPH el Liots 4F 22 M o et
EE0ME F[&2 20| 7HsSIES
A2dol g1 fASHOIO|H £T

Al2”EE MISELICt

bkl X111




B ADIESE -
u ==
FA QEmolA
M| Ho|E HrhE SATHs HOE OfFRIM AIAR 4% o4IES HolENSEZS A

Ethernet

Observe Adapt
CIASH HEA| 7|5 - BIEMo| 587X
oY ESHO[o|E HMT|s CHE M E DEsh AA
MENEAIME 7|5 S ORA Hob| s

Interact Measure Connect
2ol A2 QISHEX| A38 EL2 Q&AL - Web H2IRX{0f|AM 2| 2|HEIR] ZHA|
AFEXHEHC|E Z|CH3let M| = - FTP AMe{of| 2|5t Ho|Ef Y @lstaz|
E{X|H HMX| YIS 27| 22 thatH - ZEStHER/F 7|

Ho|He|A B ZE
(Ehd-02 E ERY)

Ho|Ha|A 2 FE
(FCHE Ef)




JA

\
12
Q

° AZIFS &I/ Fa

oD B ol
N

Flick

¢ AFYE 0|S3Id LME
oo 1 Iz 1w -]

g

=]

s10|
—_

(S5 AHE]

A7lUg E2)astel A2 21X/ 2 0| S8 CIXIZ 0|

EAlgUct

27| Yofl BUP 0[0|X 8 At2l5H3 2loo AAjUS

AL E = USLIC

245 R EAIZRRE HM

¥ channel 004

lam_summary 2012/07/25 09:45:0265088 onn ) 5
TS [T o o e e
Ay [t T AL

. © 2012/04/03 09:00:00

TIOR3

IBELEE

¥ chenneloos

V' chanel 003

3 R 201201703 09:00:00
2 2012/04/03 09:00:00
¥ channel ooy 1 W 2012/01/03 09:00:00
A cranno_oos 4 " 2012/04/03 09:00:00
3 R 2012/04/03 09:00:00

V' Channel 002

.4

el
|>
ul
itk
Im
o
In
_\g£
2

5712 BAIE ololgEz 2R
astict



e OIRARIIIHEE AI2HA
0l 7}s&tLct.

e FAHESE ZICHS| OISR EA| PCOIIM2t 22 =&
H77|E 13 +2H USBOIE{T| 0| A
o =&t 0| LtEFLED CHRFSE (BAIE 5)E & £ USBLICH USBHIZE|E AL
slHo =z BA|ELCH Clo|HXMZEg & 4= A20] £27 PCo|2| H|0]E
0|70l = LEDZ} LH&H=| 0] UELcH

A7 W Z0f 2™ HEL2L

LHEAIE &S = UFLIE

g
s
(RS
i}
L
ER ]
=
£
e
30
i}y
i
i

Xnac)

(EM)2 Soll 0IRAL 7|EER StHY2|
=

stpig 2~62 &SI, 242t0| 28 sii0| Qojo| sheig BTshA
AR % YLict

23 5012 95 R0 EU(2~62FZEE| MUE £ D, 20742
S8 5108 MR + UL

B R ELE NS,

HE|Z&3IH2 GX20/GP202t] 77| SRLI




SHecrdiiie B Bw e

W o 8

LCD&}™M
i 8 Edls BA| So 5 x5,
MZAE00| FA|EL|C}.
S Y E2 T :
' . A I A START/STOP 7| = Q4HEZO0{E A
rr B | Y U A AMEHO| M =Zt0| bS8l

I : o) Ll Aol sl Jhsiict
H&7IE S0 oRot EASD nE I {”' F ;|
clorst sipio = BAIE £ ULich . 5 4 = =
AHE0| HBIs

START/STOP 7|
7188 AZ/SXIEL T
AEIYUB A T
Feet

X ol AIXI S Shoiof 7|elgt o
Abg gLt

USBEE [2M]
SDH|22|7IE & Rev2.001 £71

SDH| 2 2|7 = (X[ 32GB)
(Z5H: FAT32 or FAT16), 1GBZ &t

GX20/GP20:12.1" TFT &2 LCD, 800x600 dots
GX10/GP10:5.7" TFT Z 24 LCD, 640x480 dots

=X o] MAAALAX LT

uzy nE &
Mo 2 HE| QRiAEME HABILICH
SoIAIge] QI ERAEMS BT GX10

. Inlet
(GP10/GP20)

TP chatet 25 HR| At

Al2IY SAEE [E4]

RS-422/485 4l & RS-2328E418
&R CH

USBEZE [24]
Rev2.0& 718t ZEQIL|Ct.

oyl ZE
10Base-T/100Base-TX ZEQ|L|C}.

FAIL E3CIX} [2M]

— VGAEEH HYlE| [(S4]

9% DUIEIS Hasts HE LT



M3 ScrewE}Q! 1} Terminal EFQI*0|

i
W
Lo
I
)
=
Lo
ool
®
wg
N
Ki o
- W
o o
ol o= o
- mn—E
n Um_i
MK g
|
o : yw
0 o ®
o
Ay
o > o
o @l
4@ : ;
AR m m m
~a m m W
R Kl : m LT
00 O LT w_v._m_
i | 2 ol 5
iy m =& ) -
Hrar m g3 T T
= M - 3% N 3
Rl H R m T ° o T
8l o(._\m.u Lox0 s
mu:_oﬂ |D| m: |_M_ bR
S = - N IS
& : z o W o <k - <
oll o I R . il o Do
= T RTORC I o S o
K it o R W o S 3 R
g u -- L= = LT =
o N 1 U U L R & a -
Ul &l o Comr e < o K ,
o Fomr oo Dk ® o = K ol
o & %l ol ’rar N T ¥ — =
= > > N ou RO of W o ol o 0 g
b L= i D B I
ok g T Yl Kr: o W » ol
K- A P O N pi; I
2 31 = o o - 00 ® CIF 30
() S Soa R 8 5 o3 A
] Al o < 00 K O T OH_ O_n_, _._._
T g ol X X = - A © X0 ol : Lo
- 5 @ S O O 0 jop: X2 o2 -
{n 3 L 239 T LoD i Bl K
o3 & g 86 o o W o | kKO o @ of Of




AOIES} 7| =

— e

ZE2 UESRA 7|sat 2ZES0]

© GX/GP2} PCE DHEH HZSHF= Web 01Z2|AH|0]4

WebE 2+ X (Internet Explorer 6/8)2 AFR3St1, GX/GP2| AIA|ZIZIA|S] M A HAS & 4= &Lt
M8 AZEY 01| ALEQI0| &2/ MH|E22 HSEQl YFZAZA| A|ARI0| ASHEL|CE

2ILEI HAISH(ERIE)

T 2o 17070 [} TR B — ) m— GX/GPER| 2} Z10| 3B S 28tstD 240 31HE ZHA|E
e B 5 1!, - | 4 qlon] &3 BtHe S28 4 UaL|ch

r_wmwmmhmm GX/GPER|SFBI: B7gl0], 8H1 H[0[0IRE MHE 5
i G

Type Trend G| EHINGRN > Ql&L|Ct.
f“,,:."“‘"““‘” Brus@a- @Bec@vy B
- o
-gh 100
- p—. AJEHIZ EBE ThH S A3 850 Sixfe} oo
:E:;*m Ly EHCSE ASHo= SoIs £ LI
- P S| EX T 1RY M, 142 20| 5|AEe| EMEE
ws N
N Errre— : EAIE = UL
e s 20
2
1058 100 1142 104 1106 1108 1110
Tire o]
1 T IDICIED
A 5tH2 Excelnte| S2H40| =0}, AIRE M S2| LHE S Excel&tol| EAIHIA HEE = JELICH
Excel&0iAM HEISHOO|E = HF stHHo| Ho{MAT|E = UFLICH
e s —
= ool | CHIED = (] B (3 F [} O] ] T 1 17
¥yl 1 L = e Friog a 150 Of 1 ] o 100 o
& tepemall | =3 BT A PO Q 150 O 1 # o 100 o
g = o o 1o HER o
e | — 4] ) T —— o
) ek P00 o 1008 1 H o 100 o
by A S PrI00 Q 150 0 1 3 0 100 off
s Benti eeg] Lo P00 a 150 041 1 2 0 100 o
Prio0 o 150 OfF 1 2 o 100 ol
o HZE AT ES|0]
FLIHE F0f SIESIO 43 AZE0]
GX/GPOllAM X ZSt H|O|B{mtU oLt FTPSOI|A Tt A{B{0fl &6t K| 0Bzt o xHAY PC&tOlM GX/GP2| 2tE MAg ot, 83
FAIL ZZIEOIRE & &= USFLICH H|O|E & GX/GPOl| M&SHAHLY, 5t= C|A 30
X| &5t H|0|E{E T ZEAIASIHLE, ASCIILE ExcelS2| Al 2 HSHE £ QI&LCt Mg 5+ AELCh

7 — —
TR e — 5

RN DS et G AS BANY oo F IBOR =0 L dua ot

D iauie

et M| o/t 4 uj20j A
#0{Z2|70| Mt 20| AFBE £ 3

CHE 0S
i Windows XP,Windows Vista, Windows 7

A}
AR
£

* AZE90l= EolM CIREE -

7, CHNE L THL™L T T

FAE 2T EY0{= 0|5+2] URLMIAM CHRE2E JHs 8t
URL:www.smartdacplus.com/software/kr/




Z2E £37|5 ciYa| 2l EE PDFEHA 7| Excel 2Z3l 7|55 "']:l(
PCE AFESHX| 2211 GX/GPOi|AM gl ZEnte| ZFotct XM Excel2 XM= B Zalof w}et XAHs o2 =
Bl ZEnUnt AHAIS ZF Olafe =Zoilof| 2 PDFIFO| 3| ZEC|0|E{ 7} RHAEL|C} ’
laL|ct ZE=EL|C} Exceld A0 2 8| Z EH|0|&{ 7} 2 =|7| i 20l
Ethernet AOE' = A|7|_|'-T"|' iaﬂq% 7%'?:-"%F _/I\_ %§L|E—|'.
e
i
]
RS A
Excel 3| ZE
° R UWESR3A IS
FTP MH 7|5 Modbus Z2}0|21E
FTP 22}0| Modbus/TCP 7|52 0|235t1 At{7|7]2

EAIE|0lE] mhY
ol#i= Bo|gf mtY
g ZE ot
PN,

AgA ot

FTP Mt{/Z2t0|HE
HO|E{Z3RE AN

sh71el HE

- ol YR SIS

I

Ethernet Ethernet
[e -] -
= = X EOoHA|

HAIC|0|E{ T}
oj#l= cfj o[zt
BlzZE ot =

FTP A{H

FTP A{H

7158 &850 ThUMH E 0|85t H|o|E{ &2 2| YRI5 A

IF0MECHE

- DI W EQT A7t Z2EZ (SNTP)7|S
- UERIZ ASHF(DHCP)7 |5

C|O|E{E GX/GPZ HEA|, MZE & UGLICH.

GP10 GX10 MW100
(ME{7|7]= 16CHIIR| HETHs)

Modbus O}AE]

Modbus/RTU7 |52 0|235t1 &8(0|=7(7|9|
Ci|O|E{ & GX.GPZ EA|, N&& = UFL|CH.

*SAME Mol 2

RS-422/485

*

=EA MHELH
UTAdvanced A|2|=

(£20]E 7|7|= 16tH7IHXR| HEIts)



‘10

=

I
=2

0
o
o
o

I
=2

0
o
2
2
o
o

iz
>
0
=
Ol
Joi

) &
ciolef Tl colef TRl '
A A
— sz
ci|ojef mtel of|ol&] mte
B B
W $ :ﬂo\sanml
C
Lo 22| 2| £0| 22|(SD)
EF Oo|H = &4 LIS o 22|of ME=of dHEE FIIS22
o2 O|C|o{2 H|0|E{ 7t ME LTt FAle] S 0B = 4

LIS o220 M&E=n A28 2 2y 9% O|c|ofol| Zah7t
A

L5l = S2HCI0|E{7t 25| HAs HE Jtsd2 X|=3]

o
LrsLIC
w5t FTPZ2L0|91E 7| 550] 2J3H TH M S 0] 88 cilolEq 2|

&t
8= 7ot

fok

GXE o{2{ 2 S50l A8
AH5t0] Mg 2 IEC529-1P65
A0 =5t YRR EE
Elo] JFLCH

FEYEAAE L S2AE2 e

*alof ZHdoll ofsh LIEtLtE wEl 2| 1 =8 d(Newton's ring)
5tof A2l SYAIZELICH

Zolg 5
Hho| L2
Qs ol
T
S

Hgo| HASOC|EL AT =4E
AZEYof Yof SO AH 2oi2ir|g F2o HyAs

44

J > e
o Im |0
2
ul

[Hom g >

j=}

#4002 MEELICE ol o8 &S ofZEalH ol
AmEgofglo] HEE & UsLict

° HEF ARMLZE|

FAIZE7| 5, R E 7| 50| 7Hs_iL|Ch

HEAMOEHTY FHHEAIZ ZEch=30ch, 21 4tch=0ch

LS 22| 500MB
FEA| A A (5/div) 308
SEF(®) 60%
EMEY A 2
O|HIE H|O|E{ mtY =HHA|ZH ZFch=30ch, 214tch=0ch
Lo 22 500MB
EFFI|(=) 1=
B A2 ot hg

172608

¢ 2TQIE E{X|ATZI HIIE=2{A|

X| 27K M EatAl BRI Dol M= 22 Q1 E E{X|o] ZHEO0
f

ZERUELICE GX/GPOM = S5 YLI2|E0| LHEE ZHE
EIRNStR o, mo|ma| A R0 UM = MA ==2 M
9HAl ER|IH i o] 22 QIE BRI E M B &LICH




GAMALS2 2

UBIALFA{(GS 04L51B01-01JA,GS 04L52B01-01JA)E &5 FAAI2.

==} GX20 GP20 GX10
T F3od 0l E S8 &=
e Sl 2~26mm 2~ 26mm
HA| 12.1" TFT Z2{ LCD (800 x 600 dots) 5.7" TFT Z2{ LCD (640 x 480 dots)
E{X|A32l AMK B E{R|A TR, 2ZOIE HR|HE
FHEE2ES 10 (Z|ch &2% Hé—.—:loo) \ 3 (Zth L&A Hd=:30)
*FChHE L 2EFE 2o UEH MI+2 HGisof 29| SFLE 8ol ol cHELICH
ALk 100 50
Shlad= 300 50
B =] 500 MB (OHA|: Z2§A| o 22)
2R 7|5 o x| SDH| 22| 7+ (32GB7HX|) (8 : FAT32 EE= FAT16), 1GB 22 USBOIE{H| 0| A(/UH SM) : Rev 2.0 7{(2| 27|29 O|C|0f : USBEEHA| B 22|)
(7|2 =/0FA : HID Class Ver. 1.1&H)
EAlY|s Ethernet(10BASE-T/100BASE-TX), IEEE802.3% 7{(0|&{4ll Z2{| 2|2 DIXAFRE)
F{& T M :Cascade max. 4 level (10BASE-T), max. 2 level (LOOBASE-TX), segment Z0|: Max. 100 m
FTPZ2I0|AME 7|5, FIPMH 7|5, fAMH 7|5, SNTP22I0|E 7|5, SNTPMH 7|5,
DHCPZ2}0|HE 7|5, Modbus/TCP(22t0|HE 7|5/MH 7|5)
SMALY Al2| 2 EAI(/C2:RS-232, /C3:RS-422A = RS485), Modbus/RTU(OLAE|7|5/48|0|2 7|5)
7|Et 715 Bob|s:7| H37ls, 2ad Jls
AAZIS HEE 7|5, HEZ :£5ppm(0 ~50°C)
LCD MlO|H 7|5
HAMYATLL 100-240V AC (A 2 & 2F:90 ~ 132V AC, 180 ~ 240VAC)
HAMY Fats 50/60 Hz
AH|HH Z|C 85VA(100V AC), Z|tH 110VA(240V AC) Z|C 45VA(100V AC), Z|CH 60VA(240V AC)
i x| 8t EthernetEhXl, RS-422/485E4X}, Zt & O1EkR} 0 A : 20MQO|4H(500V DC)
L7 oF HQICtX} 0§ A 13000V AC(50/60Hz) /122t & &2/ chR} 0{A:3000V AC(50/60Hz) /127t
AR5 = 288 x 288 x 169 (mm) 288 x 318 x 197 (mm) 144 x 144 x 174 (mm) 144 x 168 x 197 (mm)
(WxHxD) g E3h 288 x 288 x 220 (mm) 288 x 318 x 248 (mm) 144 x 144 x 225 (mm) 144 x 168 x 248 (mm)
27 ok 6.2kg ok 5.7kg ok 2.1kg oF 1.9kg
Ot2 YUHEE
=1} GX90XA
UABR AFHY, SYUMF, o, Z2MEA, DITUHA), ZRHF(2F ME MEHSA)
(YA :10) IE] 2| QI x| EX S (X 2AIZH16.7ms0| &) A2 S
DCV 15V +(0.05% of rdg+3mV) 1mv
=ESl K +(0.05% of rdg+0.7°C)* 0.1°C
Z2MEHF Pt100 +(0.05% of rdg+0.3°C) 0.1C
*ZHFI(7H100ms 2 ZSHETE UHEE F2E Mol MEto| UL
EXF| 100/200/500 ms, 1/2/5 s
T, 2H[HY 2HM S, 2H|FZ @ 0.6W0|5t
oI xS} ol 3| =LY K 3| 27t : 20MQ (500V DC)
L& 2t 23| 2-LH 5| ZZF: 3000V AC/12 2t OtfZ 1 AR} 2t : 1000V AC/1 2 ZHLEHALE A 2])
E{0|4 EIQ M3 screw terminals 5= clamp terminals
el o} 0.3kg
CIX|EY UHEE CIXEYEE
==} GX90XD =t GX90YD
HEE =z e 2 Y EASR(EHTEF:6) Relay H& (c HF)
(LA = : 16) ON/OFF & o= Halg : S5t 100-240V AC EE = 5-24V DC
ONA| ® g} 0.5DCO|5t, OFFA| & & 0.5mA0|5t o) 2EEY, ®M2 264V AC EE= 26.4V DC, 3A/ 5 (X855t
FHAMH SRR E2XolM SZ, 2H|IHH : 1.3W 0|5}
ONA| M 200Q0|5}, OFFA| X &50kQ = o1 x| Bt E2CIXL-LIE 3| 27t : 20M Q(500V DC)
HyEH 12V DC, 20mA o] & Uixet E2{ChRRLY 55| 2 7H: 3000V AC/1E2 2}
Mo, AH|X S2MOoIAM S5, AH[FE : 0.7WO|5}H E{o|d EIQ| M3 screw terminals
oI x| 8t QB CIX}-LY 25| 27} : 20M Q(500V DC) =P/ oF 0.3kg
LHE b QIS CHR|-L 25| 22k : 1500V AC/127¢
E{o|d EfQ! M3 screw terminals EE &= clamp terminals
27 ok 0.3kg
Y= £hel : mm
GX10 GX20 220 GP10 GP20 288
288 169 *2‘
225 71
144 174 = ‘ 144
i | 288 ‘ = . '
s =as 168
e 1 ‘ © == |
= d - I —
123 197 =2
248 =

GX10/GX202 4 o

I EEEEEEES

I2E

o 274of sl

ol chstiM = &

B2l S AFREILICH AL

ESES
EES

‘I(GS 04L51B01-01JA)E




Etel, At EE

/FL Fail £8], 1ZQIE

/MT oAt @EIEE 7|5 =8

/MC st Mrs

/PL 24V DC/AC MUIIS

/UH USB QIE{H0|A (BAE 22 E)

OIZ UHRE, CIXIH I/0 BE

GX10/GX20 EIQ, AlFTAE GX10:2013'4 18 FOi7}s GP10/GP20 E}Q!, AlYTF = GP10/GP20:2013'4 18 Oi7}s
Etel ag | 71t Etel Agrme  (FIUY 71At
GX10 Ho|ma|A 2| A (1Y ot2 E Etel, 48 C|AEe|0]) GP10 Ho|Ha|A A (RS EtY, &8 £[AE20])
GX20 Ho|ma|A 3 I (Y 02 E EFY, S ClAER|0|) GP20 HOo|Ha|A 2 A (RS EtYl, che claEefo])
Etel -1 =HE EtQl -1 HE
HEAl0f E 0{, DST (M{E/7HE AlE) EAIQ0] E A0{, DST (0{E/AE AlE)
EIAIYRE /C2 RS232 *1 ATt 1 100 V AC, 240 V AC
/C3 RS-422/485 *1 oRIcs M Power cord UL/CSA standard
/D5 VGA output *2 EPIINTIE 1= /C2 | RS232 *1

/C3 RS-422/485 *1

/D5 VGA output *2

/FL | Fail 8], 1ZQIE
/MT | oM @ ZE 7|5 Z8)
/MC | U METls

/UH USB QIE{H{|0| A (SAE 2ZE)

OlgZa YR E, CIXHE I/0 B &
A

St7| RIIAMSTEE EMEY - AFSTZ 0] FIt6 FHAL. GX90XA HHI AtYFFE=
GPlo LA/ o i e M= 71
SMALQE /UC10 | 10ch ott2 Q22§ £ & (Clamp terminal) GX90XA ol 2] 2l S (GX/GP8)
(ort= 1 gl2h)*3 /UC20 | 20ch obt2 09|22 5 K& (Clamp terminal)*6 M -10 1074
/UC30 | 30ch opf219!21 0 S 2t (Clamp terminal)*7 EfQ| -U2 FLIHA, AFHHELR](3M A RTD bEtAL Z8)
/UC40 | 40ch oft2 Q20 & EEf (Clamp terminal)*4 N SHAIN
/UC50 | 50ch off2 Q282 & 22t (Clamp terminal)*4 E{o|d EfQl -3 Screw terminal (M3)
/US10 | 10ch o2 3 & £ & (M3 screw terminal) -C Clamp terminal
/US20 | 20ch otd2 Q|22 E £ & (M3 screw terminal)*6 pNLE] N | etz
/US30 | 30ch ott2 Q20 & BE A (M3 screw terminal)*7
/US40 | 40ch Ofet2 19122 22 (M3 screw terminal)*4 GX9OXD @ HIt AlYTAE
/US50 50ch ot=t2 1Q/2 2 E 2 Xt (M3 screw terminal)*4 Efol AporzE JIAF
SIFARE /CRO1 | CIX|E 1/0 2EXE (53:0, 13:16)*7
(EIXIE 1/0)*3 /CR10 | CIX|E 1/0 2ERE (5316, °3:0)*7 GX90XD C|X| 222 2 5(GX/GPE)
/CR11 | CIXIE I/0 RERE (B3:6, 92{:16)%6 *7 Mas 16 16Me
JCR20 | C|X|E 1/0 SEEE (52:12, Y2:0)*5 Eted -11 2Z e £ FHAYH(Common &), HZ 5VDC
/CR21 | C|X|E I/0 2ERA (53:12, 213{:16)*5 N BHA| N
JCRAO | CIX|E 1/0 REEE (52 : 24, 2]21:0)*5 E{0|d Efg] -3 Screw terminal (M3)
/CR41 | CIX|E 1/0 RERE (£3:24, 2/8:16)*5 -C Clamp terminal
Xy N | etz

*1 /C22t /C3E= SA|0] ME{ET}

*2 /D5 GX20 EE&= GP20Rt METHS

*3 BI7FX| RIHAttEE METHS

*4 GX10 FE&= GP100{ A= /UCA0, /UC50, /US40 & /USE02 MEiE Tt

*5 GX10 EE= GP100j| A= /CR20, /CR21, /CRA0 U /CRA1E ME4 ST}

*6 GX10 EE= GP100f| A= /UC20 EE= /US202 MEHSH AL /CR11S MEHET}

*7 GX10 EE= GP100|| A= /UC30 = /US302 MEHSt 72 RO1, /CR10 & /CR112 MEiEZT}

*EHO| ZAE 25N e 2 F0iE FItRES ZESHH 1003 L(102E)7HX| F7to| IS EiLch

BE AMAME|

=9 >
Mounting bracket (GX10 or GX20) 2
SD 4 22|7t= (1GB) 1
Aetelea B 1
R ETELT
By Hu/mEHS
SD 4| 22|7}=(1GB) 773001
MEXNE (10 Q+0.1%) X010-010-3
ME X8t (100 Q+0.1%) X010-100-3
MEXNE (250 Q+0.1%) X010-250-3

vigilantplant 2t SMARTDAC+ = 2u7t2td7|@e| 4EZ S50 AsLICH

Microsoft and Windows are registered trademarks or trademarks of Microsoft Corporation in the United
States and other countries.

Other company names and product names appearing in this document are registered trademarks or
trademarks of their respective holders.

GXO0YD #HI} AU =

EtQ| Atgacs 7|Ak
GX90YD CIXZ &3 2 5(GX/GP8)
M 06 67 =
Etl <11 Relay, SPDT(NO-C-NC)

N SHAl N
E{0|d Et] -3 Screw terminal (M3)
1y N | detz e

- D HMEYHM(HOY)
3 HGX10/GX20/GP10/GP200]| SAMAKOHL R T 2l3l)S
Z™A = GX10/GX20/GP10/GP20 2/ 2| WA ZSHA{0f T &te|of EatgL|ch
ofdza M RS2 YE PiE ARE 2E JHYoict F SEMItMBEHCH (Y 282 nH

SYMIL A SELIC).

>

- X E(QIC)(EHOH)

g
3 YGX10/GX20/GP10/GP200]| SMAIKOHL 2T 2 /C|X|EI/0)2 Z8lelM 7o 22 2taE9] QIC
£ GX10/GX20/GP10/GP20=2x| 2| QIco| Z&t=|of E5+E LIct

OfL20 2 ZEN CIXHI/0ZES = TUHE 22 2E/HLE 2 QIC7t S EUCH (2 282| QIC

7HIZ Euloh).

c AL A iR
HZ2| AFRX} O L2 0]52| URLOIA| CH2 2 =61A YR7HSEILICH

URL : www.smartdacplus.com/manual/kr/

NOTICE
@ Before operating the product, read the instruction manual thoroughly for
proper and safe operation.

° ° ®
vigilantplant: M
WITH AGILITY
The clear path to operational excellence

YOKOGAWA ELECTRIC CORPORATION

VigilantPlant is Yokogawa's automation concept for safe, reliable, and profitable
plant operations. VigilantPlant aims to enable an ongoing state of Operational
Excellence where plant personnel are watchful and attentive, well-informed,
and ready to take actions that optimize plant and business performance.

Network Solutions Business Div./Phone: (81)-422-52-7179, Fax: (81)-422-52-6973 NletsoL Online fv"gn;‘v;‘_%ﬁ; g;;fvrve:_g;)”;?/"n”s‘jws'e“er
E-mail: ns@cs.jp.yokogawa.com

YOKOGAWA CORPORATION OF AMERICA Phone: 800-258-2552, Fax: (1)-770-254-0928

YOKOGAWA EUROPE B.V. Phone: (31)-88-4641000, Fax: (31)-88-4641111 Vig-RS-5E
YOKOGAWA ENGINEERING ASIA PTE.LTD.  Phone: (65)-62419933, Fax: (65)-62412606 Printed in Japan 210(KF) [Ed : 01l

Subject to change without notice
All Rights Reserved. Copyright © 2012, by Yokogawa Electric Corporation

YOKOGAWA ¢




